(ZND Schemice

NAB Form PB-17 Candidates

AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

(check applicable			A		UDAD AME										
□ FEDER	AL CANDIDA	TE	STATE	/LOCAL CAN	NDIDATE										
	il Themselve: , Federal Car				Section 1997 Secti										
	Station and Location: KBUC -F/KWUZ-F/KBKBA/F KURH-F 1, KimBerly Parker ,														
KBUC -	F/Kwuz	=-F/KGK	6 A/F	10	-8 -18										
ı,	~BERLY	Parke	KURH-F		,										
being/on behalf o	of:	Beely	Parker	Q.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	, a legally										
qualified candida	ite of the	=maran	٠		political										
narty for the offic	ce of: CHAC	GE Ca	Commiss	sionse /	E TZIC										
	SEN E														
election to be he	eld on:l'	Vou 6,	2018												
	st station time as 1														
Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks										
	ATTAC	HED													
	ATIA														
Total Charg	jes:4304	De		00050											

For programming that, in whole or in national importance," list the matters	part, "communicates a message relating below:	g to any political matter of
K/A		
,		
	Slect Ci-Ber	The second second
	he time as paid for by such person or en s either a legally qualified candidate or a v qualified candidate.	
The name of the treasurer of the cand		
CLROL GOHY.	hoe	
This station has disclosed to me its pound discount, promotional and other	olitical advertising policies, including: sales practices (not applicable to federal	applicable classes and rates; I candidates).
	CRIMINATE OR PERMIT DISCRIM IE PLACEMENT OF ADVERTISING.	
To Be Signed By C	andidate or Authorized (Committee
10 - 9 - 18 Date	Signature Signature	
To Be Signed	d By Station Representat	tive
Accepted	☐ Accepted in Part	Rejected
(BO)		Pessiner
Signature	Printed Name	Title

Sales Order

Stations: KBVC-FM, KGKG-AM-FM, KVRH-FM, Buyer: (None) **KWUZ-FM** Tax Schedule: Contract Name: KIM PARKER 4 CC COMM. Agency Commission %: 0 951001318 Billing Cycle: Calendar 11/05/18 Salesperson: 2140hhou Comm %: 15 10/09/18 Start Date: End Date: Type: Cash Revenue Type: POLITICAL Makegood Policy: Within Contract Dates PARKER 4 COMMISSIONER Advertiser: Attn: KIMBERLY PARKER Address: PO Box 183 State: CO Zip: 81201 Salida Product Name: PARKER 4 CHAFFEE CNTY COM Competitive Code: Political

KBVC-FM

	DATES		Alt	Alt TIMES				DISTRIBUTION								DATE	TOTALS		PTY
No	START	END	wks	START	END	LEN	М	Т	W	Т	F	SA	SU	Per Wk	D/W	RATE	SPOTS	\$\$	SP411
1	10/09/18	11/05/18		6:00 AM	10:00 AM	30	1	1	1	1	1			5	D	10.00	20	200.00	2
2	10/09/18	11/05/18		10:00 AM	3:00 PM	30	1	1	1	1	1			5	D	10.00	20	200.00	2
3	10/09/18	11/05/18		3:00 PM	7:00 PM	30	1	1	1	1	1			5	D	10.00	20	200.00	2
4	10/13/18	11/04/18		10:00 AM	3:00 PM	30						2	2	4	D	10.00	16	160.00	2

TOTAL GROSS \$760.00, NET \$760.00

KGKG-AM-FM

01(0)	DATES		Alt	TIMES			DISTRIBUTION									RATE	TOTALS		PTY
No	START	END	wks	START	END	LEN	М	Т	w	Т	F	SA	SU	Per Wk	DW	RATE	SPOTS	SS	
1	10/09/18	11/05/18		10:00 AM	3:00 PM	30	2	2	2	2	2			10	D	10.00	40	400.00	2
2	10/09/18	11/05/18		3:00 PM	7:00 PM	30	1	1	1	1	1			5	D	10.00	20	200.00	2
3	10/13/18	11/04/18		10:00 AM	3:00 PM	30						2	2	4	D	10.00	16	160.00	2

TOTAL GROSS \$760.00, NET \$760.00

KVRH-FM

	DATES		Alt		TIMES		DISTRIBUTION									DATE	TOTALS		PTY
No	START	END	wks	START	END	LEN	М	Т	W	Т	F	SA	SU	Per Wk	D/W	RATE	SPOTS	\$\$	FU
1	10/09/18	11/05/18		10:00 AM	3:00 PM	30	2	2	2	2	2			10	D	10.00	40	400.00	2
2	10/09/18	11/05/18		3:00 PM	7:00 PM	30	1	1	1	1	1			5	D	10.00	20	200.00	2
3	10/13/18	11/04/18		10:00 AM	3:00 PM	30						2	2	4	D	10.00	16	160.00	2

TOTAL GROSS \$760.00, NET \$760.00

KWUZ-FM

	DATES		Alt	TIMES			DISTRIBUTION									RATE	TOTALS		PTY
No	START	END	wks	START	END	LEN	М	Т	W	Т	F	SA	SU	Per Wk	D/W	KATE	SPOTS	\$\$	E11
1	10/09/18	11/05/18		10:00 AM	3:00 PM	30	2	2	2	2	2			10	D	10.00	40	400.00	2
2	10/09/18	11/05/18		3:00 PM	7:00 PM	30	1	1	1	1	1			5	D	10.00	20	200.00	2
3	10/13/18	11/04/18		10:00 AM	3:00 PM	30			7			2	2	4	D	10.00	16	160.00	2

TOTAL GROSS \$760.00, NET \$760.00

ections: By I	Month						
	Oct 18	Nov 18					
CA	2,520.00	520.00					
ST	2,160.00	880.00					
ot Prices				TOTAL	SPOTS		304
				GROSS	TOTAL \$		3,040.00
				ADJUS ¹	TED SPOTS	S	304
				ADJUS"	TED TOTAL	.\$	3,040.00

				APPRO	VE DECLI	NE	
				\bigcirc	\bigcirc	General Manager	
				\bigcirc	\bigcirc	2140TBUCH, 10/08/18 @2:26PM	
				\circ	\bigcirc	National Sales Manager	
				\bigcirc	\bigcirc	Local Sales Manager	
	CA ST oot Prices	CA 2,520.00 ST 2,160.00 Not Prices	Oct 18 Nov 18 CA 2,520.00 520.00 ST 2,160.00 880.00 oot Prices	Oct 18 Nov 18 CA 2,520.00 520.00 ST 2,160.00 880.00	Oct 18 Nov 18 CA 2,520.00 520.00 ST 2,160.00 880.00 Oct Prices TOTAL GROSS ADJUS' APPRO	Oct 18 Nov 18 CA 2,520.00 520.00 ST 2,160.00 880.00 oct Prices TOTAL SPOTS GROSS TOTAL \$ ADJUSTED SPOTS ADJUSTED TOTAL APPROVE DECLI	Oct 18 Nov 18 CA 2,520.00 520.00 ST 2,160.00 880.00 Not Prices TOTAL SPOTS GROSS TOTAL \$ ADJUSTED SPOTS ADJUSTED TOTAL \$ APPROVE DECLINE General Manager 2140TBUCH, 10/08/18 @2:26PM National Sales Manager